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Vol =
FER N E
TH4 | R6EEASEEER  BAMX T HHE RSN THE
TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
G = 1 26, 079, 902
EHET = 1 6, 782, 869
HRHEI T = 14,256 | #EH! 40 m3
/Y A7 iy PR PEEME 5, 000m3ATH ;
BEARRE AT = 822,670 | BRIAR (BLER) 1 40 m3
2. 5mAT ;
BRI (Bite) R+ 50 m3
2. 5mPL 4. OmARTi ;
BRI (Bite) R+ 60 m3
4. 0mPL E
TREE 120 m3
BRE LT = 5,330,050 |BEEERE L 1,100 m3
4. 0mPL E
TREE 1, 100 m3
Rkt A = 97,957 | 1L (B 1) 230 m2
T i S O I BRI
5527 ) =} =X 517,936 |3ED a/7)-} 50 m2
(t=5cm)
18-8-25 (20) (®JF) av))-MEEEHE
CEUEVZAR 23 m2
(t=5cm)
18-8-25 (20) (®JF) av))-MEEEHE
CEUEVZAR 74 m2
(t=5cm)
18-8-25 (20) (&) av))-MEMIEHE ;
EhdE T 2 10, 801, 980
TA7 7 Ml T = 10,801,980 | F/E#&#iE (FE3HE - BRIFEH) 1,170 m2
FEITyYr77 RC-40 AV E 100mm ;
g (I - BIF ) 5, 100 m2
TR EET A2y (20) 4f2EE 50mm 3. Omtd ;
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Vol =
FER N E
TH4 | R6EEASEEER  BAMX T HHE RSN THE
TEHEX Sy - THE - R B {7 % & A bl A iR
HEKHEEY T = 4,147, 894
e+ T 2 13,464 |KIEY 1 2V
+4)
HEL 1 X
ST 2 3,340,830 | & () AU 87 m
3007 T-25 HEWTH ;
B () R 28 m
3008 T-25 HMEWTHA 77 V—F/7" fF (K VNEE) ;
7" Vv A NUBRMAITE: 38 m
300X 300 ;
LKk vt T = 793,600 | BUGFT BT 4 & AT
(G1 300X 500X 600)
BUGHTH 18-8-25 (BdF) ki fEEAIEHE ;
BGHT K 1 (£
(G1 500X 500 500)
BUGHTH 18-8-25 (BdF) ki fEEAIEHE ;
BGHT K 2 (£
(G1 500X 500 600)
BUGHTH 18-8-25 (BdF) ki fEEA LM ;
= 4 r5e
JTV=Fv)T 3 300X 500 T-25 A H 4K b hE
iE
= 3 r5e
JTV=Fv)T 3 500X 500 T-25 A H 48K b hE
iE
BERREE K255 1 1 (E10
B $600 T-25 ;
a1 = 264, 328
e L 2 264,328 | HREEHERT 0wyl 24 m
BFE (180/205 X 250 X 600) ;
EiEEMZAR 0.8 m3
18-8-40 (F 7)) W/CHEEM L ;
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s Sefe =
FEAENGRE
T4 | R6EEASECERIE  BAMK T35 ERaEN TH
TEHX4y « Tfd - FER B Az ¥ = & #A i il N BN
BT T = 1 635, 440
EEARI I AT T = 1 635,440 |47 =N V-w 65 m
Byt Gr-C-4E 50mLl_100moATi  Hh#RER i IE
T .
EE T Y 1 150, 920
WA T = 1 150, 920 | FHEFHA 490 m2
AEsh4E U 250m20L F500m2A
SN AL T =Y 1 967, 170
IEALBREE T Y 1 967, 170 |JLAfEE 1 =
HEYE T Y 1 433,901
[t = T 2 1 34,872 | 3L ABh MM 1 F2V
b7z H=1. 8m #WE 3AE AEMFRE2. Om ;
s EEE L T Y 1 292,730 |av))-MEEWEUE L 5 m3
MEAHRETEY) FEAOE T
/) ) - MEIE EUEE L 13 m3
BmAEEY FEWE T ;
TE L T =Y 1 106,299 | % IEM 5 m3
20—k (R
B 13 m3
/) -hk (BRAD)
RISy 5 m3
20—k (BERR)
RISy 13 m3
/) -hk (BRAD)
L5y 0.2 t
AL"— H3 ;
A Y 1 1, 895, 400
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R PERE
THE4 | R6EHEAKERR  SORMX T3 HHE KR TF
THEXSy - THE - FE5 H7 & & # i Gl 2 N
AZIEE P E20 1 1,895,400 | 4335 E L B 1 Ey
[P % 2V 1 26, 079, 902
Hm IR E E20 1 5, 549, 000
e Tre: X 1 335, 000
BUGBREIUEL (REH L) 2V 1 335, 000
sty (R L) 2V 1 5, 214, 000
ol T 2V 1 31, 628, 902
TR e gL E20 1 13, 846, 000
T AT 2V 1 88, 368, 023
— e PR E20 1 14, 281, 977
N E20 1 102, 650, 000
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== /oA =
FEAENGRE
THE4 | R6EEANSEER AKX THEHERHEN TE
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
itk = 1 16, 306, 572
Ak T = 1 9, 854, 460
BIEIA-N - T2 = 1 9, 854, 460 | BIHIIF—n" =1/ 1, 800 m2
TemZAB 2 12emPA T 8 BRiF 97 ASK Jv-ik
B (13) FAMRLET 22 (20) |
HOE T (B eIH) 180 m3
TAT7 bk (CBIED
RISy 180 m3
TAT7 bk (BJED
X R T = 1 459, 672
X R T = 1 459, 672 | IR X HEIHR 910 m
(F)
WA FE) R 15em JEL Smm PEAKMEEHIEHE
i =X R 330 m
()
WA FE) R 15em JEL Smm PEAKMEEHIEHE
SN AL T =Y 1 1,934, 340
IEALBREE T Y 1 1,934, 340 |JSAEZE 1 =
A Y 1 4,058, 100
AEEHT Y 1 4,058, 100 | A2 E L E B 1 =
[ERANE Xy = 1 16, 306, 572
B R = 1 3, 960, 000
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R PERE
TH4 | R6EEAEERR SORMX T E RS T
THEXSy - THE - FE5 H7 & & # i Gl 2 N
e Tre: X 1 367, 000
R E20 1 142,000 | GEFR BRI LY 1 ey
BUGBREIUEL (REH L) 2V 1 225, 000
sty (R L) 2V 1 3, 593, 000
ol T 2V 1 20, 266, 572
e R E20 1 9, 569, 000
T AT 2V 1 29, 835, 572
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it
W
=
=
I

T4 | R6EESSEEIR

SO i DX T 5 B R A A T

TEHX4y « Tfd - FER B Az £ & F #m il N BN
RS 2 6, 575, 549
T = 2, 682, 953
EEETHA X T Y 2,682,953 | &%k 1 F2V
TAT7 VI EERR 4fdEE 50mm
EHEERR A (208 HE 1) 790 m2
TAT IV MEREERR ETERRIE 5cm ;
Stk 39 m3
B IR
LGy 39 m3
TAT 7V ik
EIE 785 m2
BRI T A2 (13) 4355 50mm 3. Omid ;
X T = 62, 856
X JER3 T Y 62, 856 | ¥ARL=IX HEHR 180 m
(El)
ﬁﬁﬁ%’z@J FE# 15em JE1. 5mm HEK AR %E
SN AL T =Y 1,934, 340
S BLERESE T Y 1,934,340 |IoAEE 1 =
A Y 1, 895, 400
A ERE E T = 1,895,400 | A i@ E B 1 =
R T = 6, 575, 549
B R = 1, 858, 000
el e 2 109, 000
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R PERE
TH4 | R6EEAEERR SORMX T E RS T
THEXSy - THE - FE5 H7 & & # i Gl 2 N

BUGBREIUEL (REH L) 2V 1 109, 000
sty (R L) 2V 1 1, 749, 000
ol T 2V 1 8, 433, 549
e R E20 1 4, 624, 000
T AT 2V 1 13, 057, 549
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